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Warm Up

Describe the steps for solving (Don't write
down):

1) 2x =8 2) X =D
Lf.
3)x-2=8 4y x+5=7

5)4x + 2 = 12
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Properties of Equalities

+
Properties of Equality Property Example(s)
+3 1 3
Add|iti0r1 Property of Equality I[fa=b,thena+c=b+c
X=1|
X+ 3=%
Subtraction Property of Equality Ifa=b,thena-c=b-c >-3

Multiplication Property of [fa— b, then ac — be

Equality X:' 8’0

Division Property of Equality Ifa=bh,thena/c=Db/c

Properties of Operations and Identities

Properties of Operations and
Identities Property Example(s)

23+U=4+3

Commutative Property of

Addition atb=b+a

3-4=4-3
Commutative Property of

Multiplication arb=b-a

2HU+5) = (344)+5

Associative Property of Addition at(b+c)=(a+b)+c ’5 4 ﬂ - +S
| 2 = |2
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Associative Property of
Multiplication

a-(b-c)=(a-b)-c

3.(4.5)=(.q) 5
320 =125
O =

Distributive Property of
Multiplication over Addition

a‘(b+c)=a-b+a-c

2 (X45) =(3><+/5;

3+0= X

Additive Identity Property at+0=a
Multiplicative Identity Property arl=a
Additive Inverse Property a+(a)=0
( opprs te
a b =5 [
Multiplicative Inverse Property —eo =] L‘/‘ 3
(muitply by b a
Yec\pyDCA( -
Multiplicative Property of Zero ar0=0

Exponential Property of Equality

o® =a°, thenb=c
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Properties of Equality

Identify the property.
1. |2-7=7.9

Comm.
As<pe.
DLSH
s Add Tnv.
ASSDC -
ST A Pop of Equalit
Cormnm.
S T 200
bl POE

10, | 9+ 5+ 35)= (0 +5)+ 35
ASS0C.
11. | 8(a +c)= 8a +8C blS"\\

12.| A+B=B+A Comm -
13. | 4(3-7)=(4-3)z 7‘&%30(‘

14, [8+0=8 AM- Id_
Mult. Tnv

2. | 2-34=(23)4

3. |4la+b)=4a+4b

7. | 55+6=6+55

[N
= |
Il
iy
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ldentity the property ot equality that justities each missing step or equation in each ot the tollowing tables.

1.
Equation Steps
x-12=19 (Given
rZ A1z —
x=31 Ad ¢ /+| DI
2.
Equation Steps
5x =37 Given
S b ¢
s Diutsion
3.
Equation Steps
2x+3=15 AX13=15 Given
2x=12 3 7S _\_
: . SubsTyacrin
_ =
x=6 D\ VISID N
4.
Equation Steps
2x-7=19 aXxX=") Given
2x=26 /\\ ] Ad\a\dw un
D
2 X
Xs=13 S ) D y\
5.
Equation Steps
4(x-6)=40 Given
L"X Jzﬂ%( L(. D Distributive Property
Addition Property of Equality
Uy = (Y
—‘\[m Division Property of Equality
6.

Equation

Steps

3(bx+1)=13x+5

Given

|ISX+3= "Z‘)X‘l"b

DI STribuhve

D&Vx+_3> =5 SbhacHon
Dx— 2 SubTvachin

DIVISION
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Identify the property of equality that justifies each missing step or equation in each of the following

tables.

Equation

Steps

1.8x+12=3x-18

Given

2.5x + 12 =-1§ Sulﬁ?ackwq
3 i - 1
S 30 Mdmet&eeur@qua
SX Subtvachon
£ x DIVISiO N
Equation Steps
1.3k+5=17 Given
7 3k=12 Su bty achun
3= K_/ u Division Property of Equality
Equation Steps
1.-6a-5=-95 Given
+5 tC
2 -
—La="90 Addihon
3 .-
a=+5 PWVision
Equation Steps
Given

1.7v-84 =2y + 61
"o e

2.7y =2y + 145

1y -2

Add ihon

Y=g

Subtvachion

4.y =29

DIWVISIp N
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12X
j 8232 | Subbachon
o x=" ~ Dvision
__ Equation = JUCON R LS Steps
l.’-lnzxx-Jx:szx+5 Glven
B ZX" 3= S_ Subtraction Property of Equality
oK € Additun
" ox=y DIV 1S\0n
1. 12(x-5) =24 - Glven =
2 12x-60=24 D\S-hnau-h ve
__1 l’z_x: m ‘Addition Property of Equality
SR DWIsion
TeTE g T - s
ux  “Yx
~axt D Substva chon
RN W stvachuh
X =4 DIVISION
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) Examples
Equation Step
Ix+12=18 Criginal Equation
k=46 Subtraction property of equality
x=2 DivisioON
2.
Equation Step
3k+5=17 Criginal Equation
Sk =12 Subtraction property of equality
_ k=4 Division property of equality
3.
' Equation Step
3hx-1)=13x+5 Criginal Equation
15%-3=13x+5 DIStv thudhv.
2x-3=5 Subtraction property of equality
2% =8 /A\do(\‘\\of\
x=4 Dwgion
4.
Equation Step
v ; ° =8 Criginal equation
v+ P=24 N\u H—\Ph CﬂT\D r\
Subtraction property of equality
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Equation Step
2n+3)=-2 Original equation
2Nt 0D=-2 DISTyibuthve
AN=-1) Subtvachun
. D\VISI6N
&.
Equation Step
?Z,; 84 =2y + 61 Original Equation
-"’t L= (| Swh{vaction
SU= Uy Addirhon
y=29 DIVISIDN
: Equation Step
x : : =2 Original Equation
Xtr5z (2 Mukhplieah O
x=7 S bshvachon
- Equation Step

2(12x-1T1) = 4=+ 2)

Original Equation

2Yx-2=Yx+€ | DiShibuhive.
Y oDx =5 = g Subjrvmmwn
20x = 1D Additon

xr= =
2

Dwision
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